
Q.1 Which city has been declared India’s first beggar-free city under the 'Bhiksha Vriti Mukta
Bharat' initiative?

Ans 1. Indore

2. Bhopal

3. Nagpur

4. Jaipur

Question Type : MCQ

Question ID : 441009258055

Option 1 ID : 4410091006057

Option 2 ID : 4410091006056

Option 3 ID : 4410091006058

Option 4 ID : 4410091006059

Status : Answered

Chosen Option : 1

Q.2 Who among the following became the Prime Minister of the United Kingdom in July 2024?

Ans 1. Boris Johnson

2. Michel Barnier

3. Keir Starmer

4. Alexander Stubb

Question Type : MCQ

Question ID : 441009217375

Option 1 ID : 441009853457

Option 2 ID : 441009853458

Option 3 ID : 441009853456

Option 4 ID : 441009853459

Status : Answered

Chosen Option : 3
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Q.3 Which company has announced an investment of ₹22,000 crore in India’s largest single-site
renewable energy complex at Bethapalle, Andhra Pradesh on May 2025?

Ans 1. ReNew Power

2. Adani Green Energy Limited

3. Tata Power Renewable Energy Limited

4. Azure Power

Question Type : MCQ

Question ID : 441009258064

Option 1 ID : 4410091006094

Option 2 ID : 4410091006092

Option 3 ID : 4410091006093

Option 4 ID : 4410091006095

Status : Answered

Chosen Option : 2

Q.4 How many medals did India secure in the Paris Olympics in 2024?

Ans 1. Five

2. Four

3. Six

4. Seven

Question Type : MCQ

Question ID : 441009257815

Option 1 ID : 4410091005097

Option 2 ID : 4410091005096

Option 3 ID : 4410091005098

Option 4 ID : 4410091005099

Status : Answered

Chosen Option : 3

Q.5 Which of the following organisations was renamed 'Swarajya Sabha' by Mahatma Gandhi in
1920?

Ans 1. South Indian Liberal Federation

2. All India Home Rule League

3. Hindu Mahasabha

4. The Servants of India Society

Question Type : MCQ

Question ID : 441009205084

Option 1 ID : 441009806559

Option 2 ID : 441009806557

Option 3 ID : 441009806558

Option 4 ID : 441009806560

Status : Answered

Chosen Option : 4
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Q.6 Which of the following states had the highest population growth rate, according to Census
2011?

Ans 1. Kerala

2. Meghalaya

3. Uttar Pradesh

4. Tamil Nadu

Question Type : MCQ

Question ID : 441009217781

Option 1 ID : 441009855057

Option 2 ID : 441009855059

Option 3 ID : 441009855058

Option 4 ID : 441009855056

Status : Answered

Chosen Option : 3

Q.7 Who among the following personalities propounded the theory of Sivadvaita?

Ans 1. Madhavacharya

2. Nimbarka

3. Srikanthacharya

4. Ramanujacharya

Question Type : MCQ

Question ID : 441009217289

Option 1 ID : 441009853142

Option 2 ID : 441009853140

Option 3 ID : 441009853139

Option 4 ID : 441009853141

Status : Answered

Chosen Option : 4

Q.8 Who appoints the delimitation commission for the readjustment of seats in the Parliament?

Ans 1. 

2. 

3. 

4. 

Question Type : MCQ

Question ID : 441009332568

Option 1 ID : 4410091296291

Option 2 ID : 4410091296288

Option 3 ID : 4410091296289

Option 4 ID : 4410091296290

Status : Answered

Chosen Option : 2
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Q.9 Which of the following is a characteristic of the Directive Principles of State Policy of the
Constitution of India?

Ans 1. They are superior to the Fundamental Rights.

2. They are the obstacles for the democracy.

3. They are non justiciable.

4. They curtail the stability of the government.

Question Type : MCQ

Question ID : 441009204319

Option 1 ID : 441009803771

Option 2 ID : 441009803772

Option 3 ID : 441009803773

Option 4 ID : 441009803770

Status : Answered

Chosen Option : 3

Q.10 Which of the following represents a non-renewable resource?

Ans 1. Solar energy

2. Wind energy

3. Biomass

4. Coal

Question Type : MCQ

Question ID : 441009217703

Option 1 ID : 441009854747

Option 2 ID : 441009854744

Option 3 ID : 441009854746

Option 4 ID : 441009854745

Status : Answered

Chosen Option : 4

Q.11 This question is based on the following words.

HAS DEN RUN INK

In each of the words, each vowel is changed to the second letter preceding it in the English
alphabetical order and each consonant is changed to the letter immediately following it in the
English alphabetical order. In how many letter-clusters thus formed, will no vowel appear?

Ans 1. Three

2. One

3. Zero

4. Two

Question Type : MCQ

Question ID : 441009216390

Option 1 ID : 441009849602

Option 2 ID : 441009849600

Option 3 ID : 441009849599

Option 4 ID : 441009849601

Status : Answered

Chosen Option : 3

Section : Logical Reasoning
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Q.12 Five people D, K, N, Y and G are sitting in a straight row facing north. Only two people are
sitting to the right of G. K is sitting fourth from the right end. D is not an immediate neighbour
of G. N sits to the immediate left of Y. Who is sitting at the extreme left end of the line?

Ans 1. N

2. D

3. Y

4. G

Question Type : MCQ

Question ID : 441009216947

Option 1 ID : 441009851830

Option 2 ID : 441009851828

Option 3 ID : 441009851827

Option 4 ID : 441009851829

Status : Answered

Chosen Option : 3

Q.13 In the following number-pairs, the second number is obtained by applying certain
mathematical operation(s) to the first number. Which numbers should replace X and Y so that
the pattern followed by the two numbers on the left side of :: is same as that on the right side
of ::?
(NOTE: Operations should be performed on the whole numbers, without breaking down the
numbers into their constituent digits. E.g. 13 – Operations on 13 such as adding
to/subtracting from/multiplying with 13 can be performed. Breaking down 13 into 1 and 3 and
then performing mathematical operations on 1 and 3 is not allowed.)
X : 21 :: 7 : Y

Ans 1. X = 5, Y = 35

2. X = 4, Y = 39

3. X = 4, Y = 36

4. X = 3, Y = 36

Question Type : MCQ

Question ID : 441009216237

Option 1 ID : 441009848988

Option 2 ID : 441009848990

Option 3 ID : 441009848987

Option 4 ID : 441009848989

Status : Answered

Chosen Option : 3
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Q.14 Based on the English alphabetical order, three of the following four letter-cluster pairs are
alike in a certain way and thus form a group. Which letter-cluster pair DOES NOT belong to
that group?
(Note: The odd one out is not based on the number of consonants/vowels or their position in
the letter-cluster.)

Ans 1. NU-LD

2. EL-CU

3. AH-YQ

4. GN-FW

Question Type : MCQ

Question ID : 441009216456

Option 1 ID : 441009849866

Option 2 ID : 441009849863

Option 3 ID : 441009849865

Option 4 ID : 441009849864

Status : Answered

Chosen Option : 4

Q.15 34 is related to 17 following a certain logic. Following the same logic, 44 is related to 22. To
which of the following is 100 related, following the same logic?

(Note: Operations should be performed on the whole numbers, without breaking down the
numbers into their constituent digits. E.g. 13 – Operations on 13 such as
adding/subtracting/multiplying to 13 can be performed. Breaking down 13 into 1 and 3 and
then performing mathematical operations on 1 and 3 is not allowed.)

Ans 1. 60

2. 50

3. 45

4. 55

Question Type : MCQ

Question ID : 441009216003

Option 1 ID : 441009848051

Option 2 ID : 441009848053

Option 3 ID : 441009848054

Option 4 ID : 441009848052

Status : Answered

Chosen Option : 2

Q.16 CFKP is related to EHOT in a certain way based on the English alphabetical order. In the same
way, KNAF is related to MPEJ. To which of the given options is QTMR related, following the
same logic?

Ans 1. SQWE

2. SVVQ

3. SVQV

4. SQVV

Question Type : MCQ

Question ID : 441009216533

Option 1 ID : 441009850174

Option 2 ID : 441009850172

Option 3 ID : 441009850171

Option 4 ID : 441009850173

Status : Answered

Chosen Option : 3
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Q.17 B is the brother of E. A is the mother of C. D is the father of A. B is married to A. How is D
related to E?

Ans 1. Brother’s father-in-law

2. Brother’s son

3. Father 

4. Father’s brother

Question Type : MCQ

Question ID : 441009217026

Option 1 ID : 441009852144

Option 2 ID : 441009852146

Option 3 ID : 441009852143

Option 4 ID : 441009852145

Status : Answered

Chosen Option : 1

Q.18 What should come in place of the question mark (?) in the following series?
2, 5, 9, ?, 20, 27

Ans 1. 15

2. 16

3. 14

4. 18

Question Type : MCQ

Question ID : 441009216220

Option 1 ID : 441009848922

Option 2 ID : 441009848920

Option 3 ID : 441009848919

Option 4 ID : 441009848921

Status : Answered

Chosen Option : 3

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.19 A paper is folded and cut as shown below. How will it appear when unfolded?

Ans

1. 

2. 

3. 

4. 

Question Type : MCQ

Question ID : 441009217151

Option 1 ID : 441009852645

Option 2 ID : 441009852646

Option 3 ID : 441009852644

Option 4 ID : 441009852643

Status : Answered

Chosen Option : 3
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Q.20 If ‘A’ stands for ‘÷’, ‘B’ stands for ‘×’, ‘C’ stands for ‘+’ and ‘D’ stands for ‘−’, then what will
come in place of the question mark (?) in the following equation?

(25 C 35) A 2 C 5 B 4 D (40 A 8) B 7 C 40 = ?

Ans 1. 40

2. 70

3. 65

4. 55

Question Type : MCQ

Question ID : 441009215864

Option 1 ID : 441009847495

Option 2 ID : 441009847498

Option 3 ID : 441009847497

Option 4 ID : 441009847496

Status : Answered

Chosen Option : 4

Q.21 Identify the sentence with the correct usage of the verb.

Ans 1. He is the only one who know the answer to that question.

2. They was excited to attend the concert last night.

3. We were swimming in the lake when it started raining.

4. She have been studying for her exams all week.

Question Type : MCQ

Question ID : 441009204557

Option 1 ID : 441009804699

Option 2 ID : 441009804698

Option 3 ID : 441009804700

Option 4 ID : 441009804697

Status : Answered

Chosen Option : 3

Q.22 Select the most appropriate meaning of the given idiom.

Have a chip on your shoulder

Ans 1. To be brutally honest and straight forward at other’s faces

2. To work or act in complete cooperation

3. To get easily offended due to past experiences

4. To put in a lot of effort to achieve something undesirable

Question Type : MCQ

Question ID : 441009141419

Option 1 ID : 441009561883

Option 2 ID : 441009561880

Option 3 ID : 441009561881

Option 4 ID : 441009561882

Status : Answered

Chosen Option : 2

Section : General English and Comprehension
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Q.23 Select the most appropriate meaning of the given idiom.

Poles apart

Ans 1. Always submissive and silent

2. Completely accepting and supportive

3. Completely different and opposite

4. Partially different and accepting

Question Type : MCQ

Question ID : 441009203959

Option 1 ID : 441009802346

Option 2 ID : 441009802344

Option 3 ID : 441009802347

Option 4 ID : 441009802345

Status : Answered

Chosen Option : 3

Q.24 Select the most appropriate ANTONYM of the given word.

Reveal

Ans 1. Disguise

2. Discover

3. Identify

4. Declare

Question Type : MCQ

Question ID : 441009339535

Option 1 ID : 4410091324191

Option 2 ID : 4410091324190

Option 3 ID : 4410091324193

Option 4 ID : 4410091324192

Status : Answered

Chosen Option : 1

Q.25 Select the most appropriate synonym of the given word.

Murky

Ans 1. Somber

2. Fragile

3. Pure

4. Illuminated

Question Type : MCQ

Question ID : 441009399950

Option 1 ID : 4410091565247

Option 2 ID : 4410091565248

Option 3 ID : 4410091565249

Option 4 ID : 4410091565246

Status : Answered

Chosen Option : 2
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Q.26 Select the option that can be used as a one-word substitute for the underlined phrase in the
given sentence.

Our school exhibits the talent and art of the students once a year to motivate them.

Ans 1. biennially

2. annually

3. semi-annually

4. triennially

Question Type : MCQ

Question ID : 441009343718

Option 1 ID : 4410091340860

Option 2 ID : 4410091340862

Option 3 ID : 4410091340861

Option 4 ID : 4410091340863

Status : Answered

Chosen Option : 2

Q.27 Select the most appropriate option that can substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required’.

Mother Teresa was renowned to her generosity and kindness.

Ans 1. for

2. No substitution required

3. on

4. of

Question Type : MCQ

Question ID : 441009204573

Option 1 ID : 441009804763

Option 2 ID : 441009804764

Option 3 ID : 441009804761

Option 4 ID : 441009804762

Status : Answered

Chosen Option : 1
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Comprehension:

Read the given passage and answer the questions that follow.

It is universally acknowledged that a good teacher makes a huge difference in a student’s life.
This is because such a teacher is instrumental in making the student love and respect the
subject he/she teaches. When a student loves a subject, he naturally becomes eager to learn. If
the education system evolves in a similar way that the students appreciate the subjects and
love them for the same instead of looking down upon them as an insurmountable task, then
the entire scenario changes. Studies are no more a burden in that case.
For this to happen, schools need to have a superb infrastructure and some very good teachers.
These two factors can work together most effectively to make education an enjoyable
experience.

SubQuestion No : 28

Q.28 Select the most appropriate synonym of the given word.

Insurmountable

Ans 1. Inimical

2. Insuperable

3. Intractable 

4. Inconsequential

Question Type : MCQ

Question ID : 441009204838

Option 1 ID : 441009805668

Option 2 ID : 441009805666

Option 3 ID : 441009805667

Option 4 ID : 441009805665

Status : Answered

Chosen Option : 2

Comprehension:

Read the given passage and answer the questions that follow.

It is universally acknowledged that a good teacher makes a huge difference in a student’s life.
This is because such a teacher is instrumental in making the student love and respect the
subject he/she teaches. When a student loves a subject, he naturally becomes eager to learn. If
the education system evolves in a similar way that the students appreciate the subjects and
love them for the same instead of looking down upon them as an insurmountable task, then
the entire scenario changes. Studies are no more a burden in that case.
For this to happen, schools need to have a superb infrastructure and some very good teachers.
These two factors can work together most effectively to make education an enjoyable
experience.

SubQuestion No : 29

Q.29 What can good infrastructure and good teachers aid in?

Ans 1. Disparage the value of education

2. Alleviate the burden of studies

3. Inflate the burden of studies

4. Augment the burden of studies

Question Type : MCQ

Question ID : 441009204837

Option 1 ID : 441009805662

Option 2 ID : 441009805663

Option 3 ID : 441009805664

Option 4 ID : 441009805661

Status : Answered

Chosen Option : 1
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Comprehension:

Read the given passage and answer the questions that follow.

It is universally acknowledged that a good teacher makes a huge difference in a student’s life.
This is because such a teacher is instrumental in making the student love and respect the
subject he/she teaches. When a student loves a subject, he naturally becomes eager to learn. If
the education system evolves in a similar way that the students appreciate the subjects and
love them for the same instead of looking down upon them as an insurmountable task, then
the entire scenario changes. Studies are no more a burden in that case.
For this to happen, schools need to have a superb infrastructure and some very good teachers.
These two factors can work together most effectively to make education an enjoyable
experience.

SubQuestion No : 30

Q.30 How does a good teacher shape a student’s life?

Ans 1. By dissuading the student from studying

2. By initiating the student’s interest in a subject

3. By making a huge difference

4. By deprecating the student’s interest in the subject

Question Type : MCQ

Question ID : 441009204836

Option 1 ID : 441009805660

Option 2 ID : 441009805658

Option 3 ID : 441009805657

Option 4 ID : 441009805659

Status : Answered

Chosen Option : 2

Q.31 �नम्न�ल�खत वाक्य को साव�ना�मक �वशषेण स ेपूरा कर�।
_____ गाय बहुत दूध देती है

Ans 1. सारी

2. यह

3. बढ़ू�

4. काली

Question Type : MCQ

Question ID : 44100950174

Option 1 ID : 441009199939

Option 2 ID : 441009199941

Option 3 ID : 441009199942

Option 4 ID : 441009199940

Status : Answered

Chosen Option : 2

Section : General Hindi
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Q.32 सव��चत ��या शब्द स े�दए गए वाक्य का �रक्त �ान पूण� कर�।
वसीम ने कहा है �क वह सोकर ........... बैठेगा।

Ans 1. पढ़कर

2. पढ़ने

3. पढ़ाते

4. पढ़ते

Question Type : MCQ

Question ID : 44100947262

Option 1 ID : 441009188143

Option 2 ID : 441009188142

Option 3 ID : 441009188140

Option 4 ID : 441009188141

Status : Answered

Chosen Option : 2

Q.33 �नम्न�ल�खत म � स ेकौन-सा �वकल्प ‘ललाट’ का पया�यवाची ह?ै

Ans 1. भारत

2. भारती

3. भाव

4. भाल

Question Type : MCQ

Question ID : 441009331512

Option 1 ID : 4410091292178

Option 2 ID : 4410091292179

Option 3 ID : 4410091292177

Option 4 ID : 4410091292176

Status : Answered

Chosen Option : 4

Q.34 नीच े�दए �वकल्प� म � स े‘अभीष्ट’ शब्द का पया�यवाची च�ुनए।

Ans 1. अ�न�ा

2. मान

3. गौरव

4. इ��त

Question Type : MCQ

Question ID : 441009331567

Option 1 ID : 4410091292378

Option 2 ID : 4410091292376

Option 3 ID : 4410091292377

Option 4 ID : 4410091292379

Status : Answered

Chosen Option : 3
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Q.35 नीच ेद� गई लोको�क्त का सही अथ� �दए गए �वकल्प� म� स ेचनु�।
जान मारे ब�नया पहचान मारे चोर

Ans 1. ब�नया महँगाई म � जान लतेा है।

2. ब�नया और चोर एक-दूसरे को पहचानते ह�।

3. चोर पहचानकर ब�नया जान लतेा है।

4. ब�नया और चोर जान-पहचान वाल ेको ही ठगते ह�।

Question Type : MCQ

Question ID : 441009331522

Option 1 ID : 4410091292212

Option 2 ID : 4410091292214

Option 3 ID : 4410091292213

Option 4 ID : 4410091292215

Status : Answered

Chosen Option : 4

Q.36 �नम्न�ल�खत म � स ेकौन-सा �वकल्प ‘सकंर’ का पया�यवाची है?

Ans 1. �शव

2. भोले

3. शकंर

4. �मश्रज

Question Type : MCQ

Question ID : 441009331523

Option 1 ID : 4410091292218

Option 2 ID : 4410091292217

Option 3 ID : 4410091292216

Option 4 ID : 4410091292219

Status : Answered

Chosen Option : 4

Q.37 �दय ेगए वाक्य के �कस भाग म � ��ुट है?
आपको काया�लय म � वषेभशूा पहनकर आना चा�हए।

Ans 1. पहनकर

2. काया�लय

3. वेषभशूा

4. आपको

Question Type : MCQ

Question ID : 441009208246

Option 1 ID : 441009818598

Option 2 ID : 441009818596

Option 3 ID : 441009818597

Option 4 ID : 441009818595

Status : Answered

Chosen Option : 3
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Comprehension:

�नम्न�ल�खत ग�ाशं के आधार पर नीचे �दए प्र�� के उत्तर द��जए-
गोस्वामी तुलसीदास लोकनायक के रूप म � �वख्यात ह�। इन्ह�ने स�णू� लोक के �व�वध प�� को अपने सामने रखकर समन्वय
का प्रयास �कया है। तुलसी के पवू�वत� अथवा परवत� �कसी क�व क� दृ�ष्ट इतनी �वशाल नह� थी। कम�, उपासना एव ं�ान म �
�कसी एक पर बल देने स ेदूसरे अगं प�रपषु्ट नह� हो पाते। तलुसी के पूव� कई प्रकार के पंथ प्रच�लत थे, �जनम � कुछ भारतीय
एवं इस्लामी ससं्कृ�तय� के समन्वय स ेउत्पन्न हुए थ,े कुछ नाथपंथी परपंरा को बल देकर आगे बढ़े, कुछ न ेभ�क्त को स्वीकार
�कया। आत्मा क� उन्न�त एवं �व�वध माग� के समन्वय पर �कसी का भी ध्यान नह� गया। गोस्वामी तुलसीदास समन्वयवाद�
थ।े इन्ह�ने ‘गीता’ के अनुसार ही दाश��नक प�� का समन्वय �कया। गोस्वामी जी ने पूव�ज� के समस्त �ान को समेट लेने क�
चेष्टा क�। इनके यगु म � सबस ेबड़ा द्वन्द्व शवै� एवं वैष्णव� म � था। इन्ह�ने अपने ‘मानस’ द्वारा सभी दं्वद्व� का समन्वय �कया।

SubQuestion No : 38

Q.38 तलुसीदास ने सभी �ं�� का समन्वय �कसके �ारा �कया है?

Ans 1. हनुमानबाहुक

2. रामच�रतमानस

3. क�वतावली

4. गीतावली

Question Type : MCQ

Question ID : 441009208321

Option 1 ID : 441009818852

Option 2 ID : 441009818854

Option 3 ID : 441009818851

Option 4 ID : 441009818853

Status : Answered

Chosen Option : 2

Comprehension:

�नम्न�ल�खत ग�ाशं के आधार पर नीचे �दए प्र�� के उत्तर द��जए-
गोस्वामी तुलसीदास लोकनायक के रूप म � �वख्यात ह�। इन्ह�ने स�णू� लोक के �व�वध प�� को अपने सामने रखकर समन्वय
का प्रयास �कया है। तुलसी के पवू�वत� अथवा परवत� �कसी क�व क� दृ�ष्ट इतनी �वशाल नह� थी। कम�, उपासना एव ं�ान म �
�कसी एक पर बल देने स ेदूसरे अगं प�रपषु्ट नह� हो पाते। तलुसी के पूव� कई प्रकार के पंथ प्रच�लत थे, �जनम � कुछ भारतीय
एवं इस्लामी ससं्कृ�तय� के समन्वय स ेउत्पन्न हुए थ,े कुछ नाथपंथी परपंरा को बल देकर आगे बढ़े, कुछ न ेभ�क्त को स्वीकार
�कया। आत्मा क� उन्न�त एवं �व�वध माग� के समन्वय पर �कसी का भी ध्यान नह� गया। गोस्वामी तुलसीदास समन्वयवाद�
थ।े इन्ह�ने ‘गीता’ के अनुसार ही दाश��नक प�� का समन्वय �कया। गोस्वामी जी ने पूव�ज� के समस्त �ान को समेट लेने क�
चेष्टा क�। इनके यगु म � सबस ेबड़ा द्वन्द्व शवै� एवं वैष्णव� म � था। इन्ह�ने अपने ‘मानस’ द्वारा सभी दं्वद्व� का समन्वय �कया।

SubQuestion No : 39

Q.39 गोस्वामी तलुसीदास थ-े

Ans 1. नाथपथंी

2. पौवा�त्यवाद�

3. समन्वयवाद�

4. द्वन्द्ववाद�

Question Type : MCQ

Question ID : 441009208320

Option 1 ID : 441009818847

Option 2 ID : 441009818849

Option 3 ID : 441009818848

Option 4 ID : 441009818850

Status : Answered

Chosen Option : 3
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Comprehension:

�नम्न�ल�खत ग�ाशं के आधार पर नीचे �दए प्र�� के उत्तर द��जए-
गोस्वामी तुलसीदास लोकनायक के रूप म � �वख्यात ह�। इन्ह�ने स�णू� लोक के �व�वध प�� को अपने सामने रखकर समन्वय
का प्रयास �कया है। तुलसी के पवू�वत� अथवा परवत� �कसी क�व क� दृ�ष्ट इतनी �वशाल नह� थी। कम�, उपासना एव ं�ान म �
�कसी एक पर बल देने स ेदूसरे अगं प�रपषु्ट नह� हो पाते। तलुसी के पूव� कई प्रकार के पंथ प्रच�लत थे, �जनम � कुछ भारतीय
एवं इस्लामी ससं्कृ�तय� के समन्वय स ेउत्पन्न हुए थ,े कुछ नाथपंथी परपंरा को बल देकर आगे बढ़े, कुछ न ेभ�क्त को स्वीकार
�कया। आत्मा क� उन्न�त एवं �व�वध माग� के समन्वय पर �कसी का भी ध्यान नह� गया। गोस्वामी तुलसीदास समन्वयवाद�
थ।े इन्ह�ने ‘गीता’ के अनुसार ही दाश��नक प�� का समन्वय �कया। गोस्वामी जी ने पूव�ज� के समस्त �ान को समेट लेने क�
चेष्टा क�। इनके यगु म � सबस ेबड़ा द्वन्द्व शवै� एवं वैष्णव� म � था। इन्ह�ने अपने ‘मानस’ द्वारा सभी दं्वद्व� का समन्वय �कया।

SubQuestion No : 40

Q.40 गोस्वामी तलुसीदास �कस रूप म � �वख्यात ह�?

Ans 1. समन्वयक के रूप म �

2. लोकनायक के रूप म �

3. दाश��नक के रूप म �

4. भक्त के रूप म �

Question Type : MCQ

Question ID : 441009208319

Option 1 ID : 441009818843

Option 2 ID : 441009818844

Option 3 ID : 441009818845

Option 4 ID : 441009818846

Status : Answered

Chosen Option : 2

Q.41 In MS Word, what is the difference between a hanging indent and a first-line indent?

Ans 1. A hanging indent indents all lines except the first line of paragraph, while a first-line
indent indents only the first line of a paragraph.

2. A hanging indent is used for creating lists, while a first-line indent is used for
formatting text.

3. A hanging indent indents the first line of a paragraph, while a first-line indent indents all
lines but the first.

4. There is no difference between a hanging indent and a first-line indent.

Question Type : MCQ

Question ID : 441009213241

Option 1 ID : 441009837042

Option 2 ID : 441009837044

Option 3 ID : 441009837041

Option 4 ID : 441009837043

Status : Answered

Chosen Option : 2

Section : Basic Knowledge of Computer
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Q.42 Which of the following practices can help prevent virus infections in computer?

Ans 1. Disabling antivirus software

2. Clicking on unknown links in emails

3. Keeping your operating system and antivirus software up to date

4. Downloading software from untrusted sources

Question Type : MCQ

Question ID : 441009214859

Option 1 ID : 441009843479

Option 2 ID : 441009843476

Option 3 ID : 441009843478

Option 4 ID : 441009843477

Status : Answered

Chosen Option : 3

Q.43 In which protocol is packet delivery NOT guaranteed in computer networks?

Ans 1. UDP

2. FTP

3. TCP

4. IP

Question Type : MCQ

Question ID : 441009213267

Option 1 ID : 441009837145

Option 2 ID : 441009837146

Option 3 ID : 441009837148

Option 4 ID : 441009837147

Status : Answered

Chosen Option : 1

Q.44 If a document opens in 'Read-Only' mode in MS Word 2019, what does it mean?

Ans 1. The document is corrupted.

2. The document can be edited normally.

3. The document is locked and cannot be edited without saving a new copy.

4. The document is password-protected.

Question Type : MCQ

Question ID : 441009214103

Option 1 ID : 441009840453

Option 2 ID : 441009840450

Option 3 ID : 441009840451

Option 4 ID : 441009840452

Status : Answered

Chosen Option : 3
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Q.45 How does a user start a slide-show from the beginning in MS PowerPoint?

Ans 1. Click on the Normal View

2. Click on the Slide Sorter View

3. Click on the Slide Show View

4. Click on the Outline View

Question Type : MCQ

Question ID : 441009215359

Option 1 ID : 441009845472

Option 2 ID : 441009845471

Option 3 ID : 441009845473

Option 4 ID : 441009845474

Status : Answered

Chosen Option : 3

Q.46 What does it mean when the user receives a 'Delivery Failure' notification for an email they
sent?

Ans 1. The email could not be delivered to the recipient.

2. The email is still in the Outbox.

3. The email has been successfully sent to the recipient.

4. The email is waiting for the user's approval to be sent.

Question Type : MCQ

Question ID : 441009213406

Option 1 ID : 441009837703

Option 2 ID : 441009837702

Option 3 ID : 441009837701

Option 4 ID : 441009837704

Status : Answered

Chosen Option : 1

Q.47 Which of the following options in MS-Excel 2016 refers to a predesigned spreadsheet that
allows users to quickly create a new workbook?

Ans 1. Ribbon

2. Microsoft account

3. Template

4. Pivot table

Question Type : MCQ

Question ID : 441009213445

Option 1 ID : 441009837860

Option 2 ID : 441009837859

Option 3 ID : 441009837858

Option 4 ID : 441009837857

Status : Answered

Chosen Option : 3
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Q.48 What are 'rows' and 'columns' in a spreadsheet?

Ans 1. Different file formats

2. Types of formulas

3. Horizontal and vertical collections of cells

4. Types of charts

Question Type : MCQ

Question ID : 441009213507

Option 1 ID : 441009838106

Option 2 ID : 441009838105

Option 3 ID : 441009838107

Option 4 ID : 441009838108

Status : Answered

Chosen Option : 3

Q.49 Which file system is most commonly used by the latest versions of Windows Operating
Systems?

Ans 1. NTFS

2. HFS+

3. ext4

4. FAT32

Question Type : MCQ

Question ID : 441009213454

Option 1 ID : 441009837894

Option 2 ID : 441009837896

Option 3 ID : 441009837895

Option 4 ID : 441009837893

Status : Answered

Chosen Option : 3

Q.50 The keyboard shortcuts to add, copy or delete a text box in MS Word 2019 are:

Ans 1. Add text box – Press and release Alt, N and then press X; Copy a text box – Press Ctrl
+ C; Paste a text box – Press Ctrl + V; Delete a text box – Press Delete

2. Add text box – Press and release Shift, N and then press X; Copy a text box – Press
Ctrl + V; Paste a text box – Press Ctrl + C; Delete a text box – Press Delete

3. Add text box – Press and release Alt, N and then press P; Copy a text box – Press Ctrl +
C; Paste a text box – Press Ctrl + V; Delete a text box – Press Insert

4. Add text box – Press and release Ctrl, N and then press X; Copy a text box – Press Ctrl
+ C; Paste a text box – Press Ctrl + V; Delete a text box – Press Insert

Question Type : MCQ

Question ID : 441009214248

Option 1 ID : 441009841032

Option 2 ID : 441009841031

Option 3 ID : 441009841033

Option 4 ID : 441009841030

Status : Answered

Chosen Option : 1
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Q.51 Which tab in MS PowerPoint allows users to insert clip art or pictures into a slide?

Ans 1. Insert

2. Design

3. Animations

4. View

Question Type : MCQ

Question ID : 441009213722

Option 1 ID : 441009838958

Option 2 ID : 441009838957

Option 3 ID : 441009838959

Option 4 ID : 441009838960

Status : Answered

Chosen Option : 1

Q.52 In MS Word, what feature allows you to view multiple pages of a document side by side?

Ans 1. Split View

2. Print Layout

3. Zoom Slider

4. Side by Side View

Question Type : MCQ

Question ID : 441009213924

Option 1 ID : 441009839768

Option 2 ID : 441009839766

Option 3 ID : 441009839765

Option 4 ID : 441009839767

Status : Answered

Chosen Option : 4

Q.53 _____ training is required for employees to combat the growing threat of cybercrime to secure
PCs in organisations.

Ans 1. Science

2. Installation of hardware

3. Art

4. Cyber Security

Question Type : MCQ

Question ID : 441009213254

Option 1 ID : 441009837094

Option 2 ID : 441009837096

Option 3 ID : 441009837095

Option 4 ID : 441009837093

Status : Answered

Chosen Option : 4
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Q.54 Which Windows OS feature provides quick access to frequently used applications?

Ans 1. Device Manager

2. File Explorer

3. Control Panel

4. Taskbar

Question Type : MCQ

Question ID : 441009213814

Option 1 ID : 441009839327

Option 2 ID : 441009839328

Option 3 ID : 441009839325

Option 4 ID : 441009839326

Status : Answered

Chosen Option : 3

Q.55 Which of the following options allows a user to change the margins of a document in MS
Word?

Ans 1. Insert → Margins

2. Review → Margins

3. Layout → Margins

4. Home → Margins

Question Type : MCQ

Question ID : 441009213167

Option 1 ID : 441009836745

Option 2 ID : 441009836748

Option 3 ID : 441009836746

Option 4 ID : 441009836747

Status : Answered

Chosen Option : 2

Q.56 Which non-GUI-based operating system is used for desktops and laptops?

Ans 1. Windows 9x

2.  MS-DOS

3. Windows 2000

4. Windows NT

Question Type : MCQ

Question ID : 441009214432

Option 1 ID : 441009841767

Option 2 ID : 441009841768

Option 3 ID : 441009841769

Option 4 ID : 441009841766

Status : Answered

Chosen Option : 1
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Q.57 Which of the following is NOT a part of an email system?

Ans 1. Email Client

2. Mail Transfer Agent

3. Mail Delivery Agent

4. Mail Sender Agent

Question Type : MCQ

Question ID : 441009214312

Option 1 ID : 441009841286

Option 2 ID : 441009841287

Option 3 ID : 441009841289

Option 4 ID : 441009841288

Status : Answered

Chosen Option : 1

Q.58 What does the cell reference $A$8 mean?

Ans 1. Row 8 and column A are both relative.

2. Row 8 is fixed, column A is relative.

3. Row 8 is relative, column A is fixed.

4. Row 8 and column A are both fixed.

Question Type : MCQ

Question ID : 441009213302

Option 1 ID : 441009837288

Option 2 ID : 441009837285

Option 3 ID : 441009837287

Option 4 ID : 441009837286

Status : Answered

Chosen Option : 1

Q.59 What is the primary purpose of the 'Inbox' in an email application?

Ans 1. To organise sent messages

2. To manage email attachments

3. To display incoming messages

4. To hold drafts for later completion

Question Type : MCQ

Question ID : 441009213822

Option 1 ID : 441009839357

Option 2 ID : 441009839360

Option 3 ID : 441009839359

Option 4 ID : 441009839358

Status : Answered

Chosen Option : 3
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Q.60 Which of the following protocols is used to encrypt email communication between the client
and the server?

Ans 1. SCTP

2. DNS

3. TLS

4. TCP

Question Type : MCQ

Question ID : 441009213257

Option 1 ID : 441009837107

Option 2 ID : 441009837108

Option 3 ID : 441009837105

Option 4 ID : 441009837106

Status : Answered

Chosen Option : 3

Q.61 What is the primary purpose of setting performance materiality during an audit?

Ans 1. To ensure that the auditor's opinion is unqualified

2. To eliminate all mis-statements in the financial statements

3. To reduce the probability of 'uncorrected and undetected mis-statements exceed
overall materiality level'

4. To ensure that all transactions are individually audited

Question Type : MCQ

Question ID : 441009223244

Option 1 ID : 441009874414

Option 2 ID : 441009874412

Option 3 ID : 441009874413

Option 4 ID : 441009874415

Status : Answered

Chosen Option : 3

Q.62 A company is considering two financing options to raise ₹10 million for a new project. Option
A involves issuing equity shares at a price of ₹200 per share, which would result in issuing
50,000 shares. Option B involves taking a loan with an interest rate of 8% per annum. If the
project's expected return is 15%, which of the following options should the company choose
based on the cost of equity versus the cost of debt?

Ans 1. Choose Option A if the cost of equity is less than the cost of debt.

2. Choose Option A because equity financing has no obligation to repay.

3. Choose Option B if the expected return exceeds the cost of debt.

4. Choose Option B because the interest on debt is tax-deductible.

Question Type : MCQ

Question ID : 441009223395

Option 1 ID : 441009875018

Option 2 ID : 441009875016

Option 3 ID : 441009875019

Option 4 ID : 441009875017

Status : Answered

Chosen Option : 2

Section : Commerce
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Q.63 Assets having no physical existence are called:

Ans 1. liquid assets

2. current assets

3. tangible assets

4. intangible assets

Question Type : MCQ

Question ID : 441009223460

Option 1 ID : 441009875279

Option 2 ID : 441009875278

Option 3 ID : 441009875276

Option 4 ID : 441009875277

Status : Answered

Chosen Option : 4

Q.64 Which of the following indicates a credit balance in a cash book?

Ans 1. Cash at bank

2. Bank overdraft

3. Cash in hand

4. Account is closed

Question Type : MCQ

Question ID : 441009223384

Option 1 ID : 441009874974

Option 2 ID : 441009874975

Option 3 ID : 441009874973

Option 4 ID : 441009874972

Status : Answered

Chosen Option : 2

Q.65 Schedule _____ of the Companies Act, 2013, provides the manner in which every company
registered under the Act shall prepare its statement of profit and loss, balance sheet and
notes account, or notes to financial statements.

Ans 1. I

2. IV

3. II

4. III

Question Type : MCQ

Question ID : 441009223622

Option 1 ID : 441009875924

Option 2 ID : 441009875927

Option 3 ID : 441009875925

Option 4 ID : 441009875926

Status : Answered

Chosen Option : 2
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Q.66 A Section 8 Company is primarily formed for _______.

Ans 1. trading and export

2. profit-making and dividends

3. government business operations

4. charitable and protection of environment

Question Type : MCQ

Question ID : 441009360926

Option 1 ID : 4410091409709

Option 2 ID : 4410091409706

Option 3 ID : 4410091409707

Option 4 ID : 4410091409708

Status : Answered

Chosen Option : 4

Q.67 Which of the following items will be credited to a profit and loss account?

Ans 1. Rent paid

2. Sales

3. Salary

4. Bad debt recovered

Question Type : MCQ

Question ID : 441009223583

Option 1 ID : 441009875770

Option 2 ID : 441009875768

Option 3 ID : 441009875769

Option 4 ID : 441009875771

Status : Answered

Chosen Option : 4

Q.68 The term “true and fair view,” as commonly used in statutory auditing, primarily refers to
which of the following?

Ans 1. The effectiveness of the entity’s internal control framework

2. Accurate and unbiased presentation of the company’s financial position and
performance in the financial statements

3. The design and execution of the auditor’s procedural audit plan

4. Adherence to applicable taxation laws and regulations

Question Type : MCQ

Question ID : 441009331831

Option 1 ID : 4410091293379

Option 2 ID : 4410091293380

Option 3 ID : 4410091293381

Option 4 ID : 4410091293378

Status : Answered

Chosen Option : 2
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Q.69 On 31 March 2024, Suresh had on overdraft of ₹8,000 in his cash book. He issued a cheque
of ₹800 which was not presented to the bank for payment. A cheque worth ₹2,000 had been
paid by him but was not collected by the bank. There was a debit in his passbook of ₹60 for
interest and ₹100 as bank charges. What would be the balance as per the Bank Passbook?

Ans 1. ₹8,860 (Favourable)

2. ₹9,360 (Favourable)

3. ₹9,360 (Overdraft)

4. ₹8,860 (Overdraft)

Question Type : MCQ

Question ID : 441009223103

Option 1 ID : 441009873850

Option 2 ID : 441009873848

Option 3 ID : 441009873849

Option 4 ID : 441009873851

Status : Answered

Chosen Option : 3

Q.70 Goods worth ₹272 returned by Lula passed through the books as ₹722. The rectification entry
is:

(a) Lula will be debited by ₹450
(b) Lula will be debited by ₹272
(c) Lula will be credited by ₹722
(d) Lula will be credited by ₹272

Ans 1. Only (a) and (b)

2. Only (a) and (c)

3. Only (b)

4. Only (a)

Question Type : MCQ

Question ID : 441009223422

Option 1 ID : 441009875125

Option 2 ID : 441009875127

Option 3 ID : 441009875126

Option 4 ID : 441009875124

Status : Answered

Chosen Option : 4

Q.71 What amount of advance tax is to be paid by an assessee on or before 15 September?

Ans 1. Not less than 65% of advance tax liability

2. Not less than 75% of advance tax liability

3. Not less than 15% of advance tax liability

4. Not less than 45% of advance tax liability

Question Type : MCQ

Question ID : 441009223257

Option 1 ID : 441009874467

Option 2 ID : 441009874466

Option 3 ID : 441009874464

Option 4 ID : 441009874465

Status : Answered

Chosen Option : 3
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Q.72 In which of the following cases will the break-even point of any organisation/company come
down?

Ans 1. If there is an increase in absolute fixed cost.

2. If the contribution margin of the product goes down.

3. If the selling price per unit of the product is increased.

4. If the variable cost per unit goes down or is reduced.

Question Type : MCQ

Question ID : 441009223356

Option 1 ID : 441009874862

Option 2 ID : 441009874863

Option 3 ID : 441009874861

Option 4 ID : 441009874860

Status : Answered

Chosen Option : 4

Q.73 Under the provisions of Section 194C of the Income-Tax Act, 1961, tax is required to be
deducted at source in case of payments made for:

Ans 1. Payments made to contractors or sub-contractors for carrying out any work

2. Rent paid for the use of land or building

3. Salary disbursed to employees

4. Interest paid on fixed deposits

Question Type : MCQ

Question ID : 441009332238

Option 1 ID : 4410091295003

Option 2 ID : 4410091295004

Option 3 ID : 4410091295002

Option 4 ID : 4410091295005

Status : Answered

Chosen Option : 3

Q.74 Zero-based budgeting involves which of the following stages?

(i) Identification of decision packages and their description in detail
(ii) Evaluation of decision packages
(iii) Selection of decision packages according to priority
(iv) Allocation of resources after approval of the budget committee and the top management

Ans 1. Only (i) and (ii)

2. Only (ii) and (iii)

3. Only (i), (ii) and (iii)

4. All (i), (ii), (iii) and (iv)

Question Type : MCQ

Question ID : 441009223313

Option 1 ID : 441009874688

Option 2 ID : 441009874689

Option 3 ID : 441009874690

Option 4 ID : 441009874691

Status : Answered

Chosen Option : 4
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Q.75 Where should the 'interest paid on a bank overdraft' be recorded while preparation of books of
accounts?

Ans 1. Profit and loss account

2. Balance sheet

3. Capital account

4. Trading account

Question Type : MCQ

Question ID : 441009223543

Option 1 ID : 441009875611

Option 2 ID : 441009875609

Option 3 ID : 441009875610

Option 4 ID : 441009875608

Status : Answered

Chosen Option : 1

Q.76 Which of the following transactions will be deducted, when the starting balance is debit, i.e.,
favourable balance as per the cash book?

(i) Cheques issued but not presented for payment
(ii) Wrong credit granted by the bank
(iii) Cheques recorded but not deposited

Ans 1. Only (iii)

2. Only (i)

3. Only (i) and (iii)

4. Only (i) and (ii)

Question Type : MCQ

Question ID : 441009223413

Option 1 ID : 441009875090

Option 2 ID : 441009875088

Option 3 ID : 441009875091

Option 4 ID : 441009875089

Status : Answered

Chosen Option : 3

Q.77 Which of the following is NOT an application of funds?

Ans 1. Payment of dividends

2. Replacement of non-current debt

3. Additional long-term borrowing for acquisition of new non-current assets

4. Increase in the balance of working capital

Question Type : MCQ

Question ID : 441009223193

Option 1 ID : 441009874210

Option 2 ID : 441009874209

Option 3 ID : 441009874208

Option 4 ID : 441009874211

Status : Answered

Chosen Option : 3
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Q.78 In relation to the benefits of a single entry system, which of the following statements is
INCORRECT?

Ans 1. Under the single entry system, the valuation of assets and liabilities is done properly.

2. Single entry system is extremely useful for businesses run by individuals where the
volume of activity is not large.

3. Single entry system is economical as it does not need a comprehensive record-
keeping.

4. Single entry system is quick and easy to maintain.

Question Type : MCQ

Question ID : 441009223303

Option 1 ID : 441009874651

Option 2 ID : 441009874650

Option 3 ID : 441009874649

Option 4 ID : 441009874648

Status : Answered

Chosen Option : 1

Q.79 When a bank directly deducts the amount from the current account of an organisation for the
bank charges during the period, it will be referred in the bank reconciliation statement as:

Ans 1. credit transfer

2. direct receipts by the bank

3. direct debit

4. un-credit cheques

Question Type : MCQ

Question ID : 441009223386

Option 1 ID : 441009874983

Option 2 ID : 441009874982

Option 3 ID : 441009874981

Option 4 ID : 441009874980

Status : Answered

Chosen Option : 3

Q.80 When amounts are paid to suppliers in advance and goods or services are NOT received till
the balance sheet date, they are to be shown as ___________.

Ans 1. current liablity

2. fixed asset

3. cash in hand

4. current assets

Question Type : MCQ

Question ID : 441009223465

Option 1 ID : 441009875297

Option 2 ID : 441009875299

Option 3 ID : 441009875298

Option 4 ID : 441009875296

Status : Answered

Chosen Option : 4
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Q.81 The Balance as per the Cash Book is known. Which of the following transactions needs to be
considered to arrive at the Balance as per the Passbook?

Ans 1. Add: Bank charges not recorded in the Cash Book

2. Less: Cheques issued but not presented

3. Add: Cheques deposited but not credited by the bank

4. Add: Interest credited by the bank

Question Type : MCQ

Question ID : 441009223105

Option 1 ID : 441009873859

Option 2 ID : 441009873857

Option 3 ID : 441009873858

Option 4 ID : 441009873856

Status : Answered

Chosen Option : 4

Q.82 Select the ODD one out with respect to the features of statutory mandates, as applicable for
different firms from time to time.

Ans 1. Cost audit

2. Internal audit

3. Secretarial audit

4. Financial audit

Question Type : MCQ

Question ID : 441009223184

Option 1 ID : 441009874174

Option 2 ID : 441009874173

Option 3 ID : 441009874175

Option 4 ID : 441009874172

Status : Answered

Chosen Option : 2

Q.83 Which of the following is a capital expenditure?

Ans 1. Cost of replacing parts to maintain the efficiency of a machine

2. Interest paid on loan taken to finance the purchase of a new machine

3. Cost of electricity to run a machine

4. Cost of installing a new machine

Question Type : MCQ

Question ID : 441009223367

Option 1 ID : 441009874906

Option 2 ID : 441009874905

Option 3 ID : 441009874907

Option 4 ID : 441009874904

Status : Answered

Chosen Option : 4
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Q.84 What does GST stand for in India?

Ans 1. Goods and Services Tax

2. Gross Sales Transfer

3. Government Service Tax

4. General Sales Tax

Question Type : MCQ

Question ID : 441009371620

Option 1 ID : 4410091452323

Option 2 ID : 4410091452322

Option 3 ID : 4410091452321

Option 4 ID : 4410091452320

Status : Answered

Chosen Option : 1

Q.85 From the following particulars, calculate the net profit / net loss for the year ended 31 March
2024.

Salaries and Wages: ₹30,000
Commission paid: ₹2,000
Postage and Telegrams: ₹1,500
Insurance: ₹3,000
Interest paid: ₹4,000
Carriage outwards: ₹5,000
Advertising: ₹10,000
Discount allowed: ₹18,000
Rent received: ₹17,000
Interest on investment: ₹15,000
Bad debts: ₹9,000
Brokerage paid: ₹950
The gross profit was 45% of sales, which amounted to ₹6,50,000.

Ans 1. Net profit: ₹2,41,000

2. Net profit: ₹2,01,050

3. Net profit: ₹2,40,050

4. Net profit: ₹2,41,050

Question Type : MCQ

Question ID : 441009223449

Option 1 ID : 441009875234

Option 2 ID : 441009875233

Option 3 ID : 441009875235

Option 4 ID : 441009875232

Status : Answered

Chosen Option : 4
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Q.86 You are to receive ₹10,000 three years from now. If the annual discount rate is 10%, what is
the present value of that amount?

Ans 1. ₹8,264.46

2. ₹9,000.00

3. ₹7,513.15

4. ₹7,850.00

Question Type : MCQ

Question ID : 441009369596

Option 1 ID : 4410091444374

Option 2 ID : 4410091444373

Option 3 ID : 4410091444375

Option 4 ID : 4410091444376

Status : Answered

Chosen Option : 4

Q.87 As per the definition of ‘Person’ under the Income Tax Act,1961, Mumbai University is
regarded as:

Ans 1. Artificial Juridical Person

2. Local Authority

3. Company

4. Firm

Question Type : MCQ

Question ID : 441009223494

Option 1 ID : 441009875415

Option 2 ID : 441009875414

Option 3 ID : 441009875412

Option 4 ID : 441009875413

Status : Answered

Chosen Option : 1

Q.88 Given an invoice for repairs to machinery, ₹500 has been debited from the machinery
account. Which rectification entry is required to correct the error?

Ans 1. Debit repairs account and credit machinery account by ₹500

2. Debit repairs account and credit suspense account by ₹500

3. Debit machinery account and credit repairs to machinery account by ₹500

4. Debit suspense account and credit machinery account by ₹500

Question Type : MCQ

Question ID : 441009223380

Option 1 ID : 441009874957

Option 2 ID : 441009874958

Option 3 ID : 441009874956

Option 4 ID : 441009874959

Status : Answered

Chosen Option : 1
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Q.89 A Holding Company is defined as a company that _______.

Ans 1. is managed by a single individual

2. operates independently without affiliated entities

3. owns controlling interest in another company

4. functions exclusively as a nonprofit organisation

Question Type : MCQ

Question ID : 441009360940

Option 1 ID : 4410091409767

Option 2 ID : 4410091409766

Option 3 ID : 4410091409769

Option 4 ID : 4410091409768

Status : Answered

Chosen Option : 3

Q.90 Given below are the annual sales numbers of a business. Calculate the net profit.

Cash sales: ₹35,000
Credit sales: ₹40,000
The cost of goods sold (including all direct expenses) worked out as ₹52,000.
Expenses incurred on sales amounted to ₹6,700.

Ans 1. ₹16,000

2. ₹6,300

3. ₹10,300

4. ₹16,300

Question Type : MCQ

Question ID : 441009223451

Option 1 ID : 441009875243

Option 2 ID : 441009875242

Option 3 ID : 441009875241

Option 4 ID : 441009875240

Status : Answered

Chosen Option : 4

Q.91 As per Article _____, the power to levy GST has been given to the Parliament as well as to the
Legislature of every State.

Ans 1. 206A

2. 246A

3. 246

4. 206

Question Type : MCQ

Question ID : 441009223585

Option 1 ID : 441009875779

Option 2 ID : 441009875777

Option 3 ID : 441009875776

Option 4 ID : 441009875778

Status : Answered

Chosen Option : 2

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.92 Which of the following best describes the purpose of budgetary control in an organisation?

Ans 1. To ensure minimum tax liability

2. To prepare the balance sheet of the organisation

3. To compare actual performance with budgeted targets and take corrective action

4. To detect and punish employee fraud

Question Type : MCQ

Question ID : 441009371432

Option 1 ID : 4410091451635

Option 2 ID : 4410091451634

Option 3 ID : 4410091451632

Option 4 ID : 4410091451633

Status : Answered

Chosen Option : 3

Q.93 What is the due date of furnishing GSTR-1 by a registered person opting for the QRMP
scheme under the Goods and Service Tax?

Ans 1. 11th day of the month succeeding such quarter

2. 10th day of the month succeeding such quarter

3. 14th day of the month succeeding such quarter

4. 13th day of the month succeeding such quarter

Question Type : MCQ

Question ID : 441009223232

Option 1 ID : 441009874365

Option 2 ID : 441009874364

Option 3 ID : 441009874367

Option 4 ID : 441009874366

Status : Answered

Chosen Option : 3

Q.94 Under which type of single-entry system are only personal accounts maintained?

Ans 1. Pure single entry

2. Complete double-entry system

3. Simple single entry

4. Quasi single entry

Question Type : MCQ

Question ID : 441009223150

Option 1 ID : 441009874037

Option 2 ID : 441009874039

Option 3 ID : 441009874038

Option 4 ID : 441009874036

Status : Answered

Chosen Option : 3
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Q.95 State whether the following statements are true or false.

(i) Operating profit = Net sales + Operating cost
(ii) Operating profit = Net profit + Non-operating expenses minus non-operating income

Ans 1. Statement (i) is false and Statement (ii) is true.

2. Statement (i) is true and Statement (ii) is false.

3. Statement (i) is true and Statement (ii) is true.

4. Statement (i) is false and Statement (ii) is false.

Question Type : MCQ

Question ID : 441009223453

Option 1 ID : 441009875251

Option 2 ID : 441009875248

Option 3 ID : 441009875250

Option 4 ID : 441009875249

Status : Answered

Chosen Option : 2

Q.96 Read the following statements and select the most appropriate option.

(i) The concept of Time Value of Money refers to the fact that money received today is
different in its worth from the money receivable at some other time in future.
(ii) The concept of Time Value of Money refers to the fact that money received today is worth
less than the money receivable at some other time in future.

Ans 1. Statement (i) is true, and Statement (ii) is false.

2. Both Statements (i) and (ii) are false.

3. Statement (i) is false, and Statement (ii) is true.

4. Both Statements (i) and (ii) are true.

Question Type : MCQ

Question ID : 441009223601

Option 1 ID : 441009875840

Option 2 ID : 441009875841

Option 3 ID : 441009875843

Option 4 ID : 441009875842

Status : Answered

Chosen Option : 1

Q.97 Which of the following is NOT a principal aspect to be covered in auditing?

Ans 1. Verification of Assets and Liability

2. Review of Internal Control System

3. Review of Internal Audit System

4. Verification of Books and Statements

Question Type : MCQ

Question ID : 441009223183

Option 1 ID : 441009874168

Option 2 ID : 441009874170

Option 3 ID : 441009874171

Option 4 ID : 441009874169

Status : Answered

Chosen Option : 1
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Q.98 Financial statements comprise a number of statements prepared at the end of each financial
year to assess the various financial activities and strength of an enterprise. Which of the
following are regarded as Financial Statement Components?
(i) Profit and Loss Account Schedule and Notes Forming Part thereto
(ii) Cash Flow Statement
(iii) Consolidated Financial Statements

Ans 1. Only (ii) and (iii)

2. Only (i) and (ii)

3. All (i), (ii) and (iii)

4. Only (i) and (iii)

Question Type : MCQ

Question ID : 441009223521

Option 1 ID : 441009875521

Option 2 ID : 441009875520

Option 3 ID : 441009875523

Option 4 ID : 441009875522

Status : Answered

Chosen Option : 3

Q.99 In relation to Profit-Loss prior to incorporation, which of the following expenses are allocated
based on Sales/Turnover?

(i) Salaries to Office Staff
(ii) Carriage Outwards
(iii) Discount Allowed

Ans 1. Only (ii) and (iii)

2. Only (i) and (iii)

3. Only (i) and (ii)

4. All (i), (ii) and (iii)

Question Type : MCQ

Question ID : 441009223348

Option 1 ID : 441009874830

Option 2 ID : 441009874829

Option 3 ID : 441009874828

Option 4 ID : 441009874831

Status : Answered

Chosen Option : 4

Q.10
0

Which of the following Sections of the Companies Act, 2013, mentions internal audits?

Ans 1. 139

2. 137

3. 130

4. 138

Question Type : MCQ

Question ID : 441009223607

Option 1 ID : 441009875867

Option 2 ID : 441009875865

Option 3 ID : 441009875866

Option 4 ID : 441009875864

Status : Answered

Chosen Option : 1
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